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o Hypothesis test for the difference of population means: Paired comparisons

A personal computer manufacturer is interested in comparing assembly times for two keyboard assembly processes.
Ty Assembly times can vary considerably from worker to worker, and the company decides to eliminate this effect by
selecting a random sample of 8 workers and timing each worker on each assembly process. Half of the workers are
chosen at random to use Process 1 first, and the rest use Process 2 first. For each worker and each process, the
assembly time (in minutes) is recorded, as shown in Table 1
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1 5 o1 i
2 7 a 13
e 3 81 a7 27
4 43 50 11
? 5 [ 61 2
3 33 34 ]
7 55 34 21
3 76 3 3
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Done Internet | Protected Mode: On. ®100%

TEsource (re.




[image: image2.png]ttp:/ fwwwphoeni.aleks.com/alekscgi/x/lsl exe/1220WUWHUA AHhIU3c1 X_PTwkodpisHGOXWEhMtBeU2AtNIvStq258PSAMbLyNxgO0bWWQuoFmoF gaGbnmnLr ~

Google G~ TG @ @ B < | 1 Seslmacr [ Popipraiy]  Creck = AsoLink Ao (@ endte~ o
MOLB [P Gowe Bl smun |4 | o8 v~ @ A=) e | G orer - | B comes 53 sorate | 3 wearer [ 5| 0| D) @ 0500
(Oteaesstetisor =/

mywebsearch <[ [5Search]] © Smiey Central B Screersavers I\ Cursor Moria & Fun Cards
% 4 [JA Online Practice Brandon Russell ] B v B v @ v [ Page v G Took v
Based on these data, can the company conclude, at the 0. 10 level of significance, that the mean assembly fimes for z

the two processes differ? Answer this question by performing a hypothesis test regarding 4, (whichiis 4 with a
letter "d" subscript), the population mean difference in assembly times for the two processes. Assume that this
population of differences (Process 1 minus Process 2) is normally distributed.

Perform a two-tailed test. Then fillin the table below. Carry your intermediate computations to at least three decimal ;
places. (I necessary, consult a list of formulas ) g

“The nul hypothesis: Hy:ll
m
“The altemative hypathesis: a0

The type of test statistic: (Choose one) =] +F

The value of thetest statistc
(Rounto atleastthree decimal [
places)

The two critcal values atthe 0.10
level of sgrifcance.

Rounao atlsastinves decrnal |0 20
places)

Atthe 010 level, can the company canclude thatthe
mean assembly times for the two processes difier?
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